}/’//’/
PSSR

PAGE 1 OF 7

E. CENTER SLAT SUPPORT 1PC

B. FOOTBOARD 1 PC
D. SLATROLL 1 SET
BED HARDWARE BOX
F. SUPPORT LEG 4PCS
FULLY ASSEMBLED

BOX #2
BOX #3 :

DORSEY WOVEN QUEEN / KING BED
ASSEMBLY INSTRUCTIONS

QUANTITY | C. SIDE RAIL 2 PCS

8PCS
8PCS
1PC
6 PCS
1PC

Not provided

IMAGE

-
|

———————————

ASSEMBLE ON A SOFT SURFACE

SPANNER

DESCRIPTION
THREAD BOLT
ALLEN KEY

ALL-

(5/16"x80mm)
THREADED HALF MOON

WASHER NUT (5/16")

HARDWARE KIT PACKED IN BOX #2
WOOD SCREW (4x30mm)

A. HEADBOARD 1 PC

BOX #1

No.




),
D>

T

44

L

DORSEY WOVEN QUEEN / KING BED
ASSEMBLY INSTRUCTIONS

STEP #1:

STEP #2:

PAGE 2 OF 7




ASSEMBLY INSTRUCTIONS

DORSEY WOVEN QUEEN / KING BED

STEP #3:

STEP #4:

PAGE 3 OF 7




),
D>

T

44

L

DORSEY WOVEN QUEEN / KING BED
ASSEMBLY INSTRUCTIONS

M~
L
o
<
T
2
o

SKIP TO APPENDIX

IF USING BED FRAME WITH ADJUSTABLE MATTRESS BASE
IF USING BED FRAME WITH STANDARD BOX SPRING OR FOUNDATION
CONTINUE TO STEP 5.

A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT.

*

STOP

*

STEP #6:

o
3+
o
L
-
n




DORSEY WOVEN QUEEN / KING BED
ASSEMBLY INSTRUCTIONS

nnnnnnnnnn
~~~~~~~~~~

nnnnnnnn

7

nnnnnnnnnn

ol f i i f i
P P P e 7
i it i i i ] -
St

STEP #7:

;///

\!

= OO

i i i

nnnnn

~~~~~

STEP #8:

PAGE 5 OF 7

ST 1 - =
TP =
LTI TH T A
i

\

A
AN

q

nnnnn




),
D>

T

44

L

DORSEY WOVEN QUEEN / KING BED
ASSEMBLY INSTRUCTIONS

ASSEMBLY COMPLETE.

!!!!!!!!!!

G\ w\ ||\
ﬁ\‘;l?’.l?.l?.l?.lv.l
¥

=W

ol

T

!!!!!

IIIII

!!!!!

MAINTENANCE INSTRUCTION:

. REMOVE BOX SPRING AND MATTRESS BEFORE MOVING

YOUR BED.

. LIFT YOUR BED WHEN MOVING IT.

DRAGGING CAN DAMAGE THE LEG SUPPORT.

. READJUST LEVELERS AFTER MOVING YOUR BED.

PAGE 6 OF 7

INSTRUCTIONS FOR ADJUSTING LEVELER:

. POSITION THE BED IN YOUR SPACE AND LOCATE

THE LEVELER UNDER EACH SUPPORT LEG.

. TURN THE LEVELER COUNTER- CLOCKWISE TO EXTEND

THE LEVELER AND CLOCKWISE TO RETRACT IT.

. ADJUST EACH LEVELER UNTIL EACH SUPPORT LEG IS APPLYING

EQUAL, UPWARD PRESSURE ON THE BED SUPPORT SLAT.




),
D>

T

44

L

PAGE 7 OF 7

4. WOOD SCREW (4x30mm) 6PCS

.F.hl.hl.hl.hl.hl

e e e f i f o f
.(f.hl.hl.hl.hl.&..ll
i i f e i f i f i

ASSEMBLY INSTRUCTIONS

APPENDIX A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT

DORSEY WOVEN QUEEN / KING BED

E. CENTER SLAT SUPPORT 1PC

D. SLAT ROLL 1SET
F. SUPPORT LEG 4PCS

IF USING THIS BED FRAME WITH A STANDARD BOX SPRING OR FOUNDATION THESE INSTRUCTIONS DO NOT APPLY.

PRE-ASSEMBLED SIDE RAIL CLEATS OBSTRUCT ADJUSTABLE BASE INSTALLATION AND OPERATION.

FOLLOW THESE INSTRUCTIONS TO REMOVE THEM.

NOTE: YOU MAY WISH TO RETAIN UNUSED PARTS IF IN THE FUTURE YOU INTEND TO USE THE BED FRAME WITH

USE ALLEN KEY (5) TO UNSCREW ALLEN BOLTS AND REMOVE PRE-ASSEMBLED SIDE RAIL CLEATS.
A STANDARD BOX SPRING OR FOUNDATION

AN ADJUSTABLE MATTRESS BASE IS A FREESTANDING MATTRESS SUPPORT THAT SITS WITHIN
THE FOLLOWING PARTS ARE NOT REQUIRED FOR ADJUSTABLE MATTRESS BASE INSTALLATION:

THE PERIMETER OF THE BED FRAME.

STEP 1:




U,
D>

T

44

-
LL

PAGE 1 OF 8

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

O
a
=0
T
28
D.RS
x oo
3 |
cl 3 nwaO% o
n <L L
— Uy O a O |_
el QW @
X < R =
ALW “_SS_I w AT R
QLB Torwk «
= L, TEeg <
R EE: ¥ 8255 >
X LwnAo x gCMS —
O . W o v . S
O dOom o Ouwuwo w
> [%)] [%)]
El o 0 0 9 O O
Elo | O | @ o819 |a|«&a
<| o o - o - N o~ 3
S| o © © N — - 3
N d
3 5
X | w 2
AR s o0 ST
W
m|=z Q
z © 8 &
——————————— a) o o)
s O n
nh] B . —
2 o = . =
(@) P S IS e o
£ ¢ — a
O~ & Q hy 3 <
o = : 32 0 Ire) =] z
- h|_u Mm < uX ~ ~ O
Clzla- |38 x| 3|43 |E|G u
X|10/qgE x| Y o X — T I @
O w Ei<g Ts o = = 7} 7} P
zZ - L
a @z U8z < | 0 | W < | £
@ (@) n
- o|xR Wy | a o - @ 2 = 7
o) S 25|28 @ o 2 ¥ = <
= 8533 < |z <
o [= I B = T o w (@] |
< [ 49 1 x?Q o — ) o
2 z 27 Es 2 =
a) < F
7S =
S L .
o < S| o ™ < o © ~ ©




),
D>

44

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

STEP #1.

STEP #2:

PAGE 2 OF 8




U,
D>

T

[0 4

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

PAGE 3 OF 8

==\ =a|=a | =a] ==

PSSR Y /

”

STEP #3
STEP #4:




),
D>

T

44

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

SKIP TO APPENDIX

IF USING BED FRAME WITH ADJUSTABLE MATTRESS BASE

A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT.

*
*

STOP

IF USING BED FRAME WITH STANDARD BOX SPRING OR FOUNDATION

CONTINUE TO STEP 5.

Lo
RS
ol
L
—
(0p)

STEP #6:

[co}
L
O
<
L
Q
<
o




),
D>

T

44

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

STEP #7:

nnnnnnnnnn

i i i f i f i f
i i i i f i f i
TITITITITT =0

;///

(7f

nnnnnnnnnn
~~~~~~~~~~

nnnnnnnnn

b7 b~

7 7l /7

STEP #8:

D
...... i

S A 4

i i i i v v Vi
i/ i f i vy s
iy yi
fam il il i

nnnnnnnnnn

C

PAGE 5 OF 8




),
D>

T

44

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

STEP #9:

PAGE 6 OF 8




),
D>

T

44

-
LL

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

ASSEMBLY COMPLETE.

S e e e
N/ g g s

nnnnnnnnnn

nnnnnnnnnn

7 b~

MAINTENANCE INSTRUCTION:

. REMOVE BOX SPRING AND MATTRESS BEFORE MOVING

YOUR BED.

. LIFT YOUR BED WHEN MOVING IT.

DRAGGING CAN DAMAGE THE LEG SUPPORT.

. READJUST LEVELERS AFTER MOVING YOUR BED.

PAGE 7 OF 8

INSTRUCTIONS FOR ADJUSTING LEVELER:

. POSITION THE BED IN YOUR SPACE AND LOCATE

THE LEVELER UNDER EACH SUPPORT LEG.

. TURN THE LEVELER COUNTER- CLOCKWISE TO EXTEND

THE LEVELER AND CLOCKWISE TO RETRACT IT.

. ADJUST EACH LEVELER UNTIL EACH SUPPORT LEG IS APPLYING

EQUAL, UPWARD PRESSURE ON THE BED SUPPORT SLAT.




),
D>

T

44

-
LL

PAGE 8 OF 8

p———
S A 7

ASSEMBLY INSTRUCTIONS
APPENDIX A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT

DORSEY WOVEN CAL KING BED

4. WOOD SCREW (4x30mm) 6PCS

E. CENTER SLAT SUPPORT 1PC
F. MATTRESS SPACER 2PCS
G. SUPPORT LEG 4PCS

IF USING THIS BED FRAME WITH A STANDARD BOX SPRING OR FOUNDATION THESE INSTRUCTIONS DO NOT APPLY.
D. SLAT ROLL 1SET

PRE-ASSEMBLED SIDE RAIL CLEATS OBSTRUCT ADJUSTABLE BASE INSTALLATION AND OPERATION.

FOLLOW THESE INSTRUCTIONS TO REMOVE THEM.

NOTE: YOU MAY WISH TO RETAIN UNUSED PARTS IF IN THE FUTURE YOU INTEND TO USE THE BED FRAME WITH

USE ALLEN KEY (5) TO UNSCREW ALLEN BOLTS AND REMOVE PRE-ASSEMBLED SIDE RAIL CLEATS.
A STANDARD BOX SPRING OR FOUNDATION

AN ADJUSTABLE MATTRESS BASE IS A FREESTANDING MATTRESS SUPPORT THAT SITS WITHIN
THE FOLLOWING PARTS ARE NOT REQUIRED FOR ADJUSTABLE MATTRESS BASE INSTALLATION:

THE PERIMETER OF THE BED FRAME.

STEP 1:




	NSPVK5
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)
	HDLR- DORSEY Model (1)

	NSPVK6

